		Name ________________________
[image: C:\Users\1451550\Desktop\passPhysics website\adding Vectors\jun_05_03.jpg]     [image: C:\Users\1451550\Desktop\passPhysics website\adding Vectors\jun_07_05.jpg]
[bookmark: _GoBack][image: C:\Users\1451550\Desktop\passPhysics website\adding Vectors\jan_07_02.jpg]  [image: C:\Users\1451550\Desktop\passPhysics website\adding Vectors\jun_10_02.jpg][image: C:\Users\1451550\Desktop\passPhysics website\adding Vectors\jun_06_02.jpg]   [image: C:\Users\1451550\Desktop\passPhysics website\adding Vectors\jun_07_42.jpg][image: C:\Users\1451550\Desktop\passPhysics website\adding Vectors\jun_07_38.jpg]   [image: C:\Users\1451550\Desktop\passPhysics website\adding Vectors\jan_08_38.jpg][image: C:\Users\1451550\Desktop\passPhysics website\adding Vectors\jun_08_41.jpg][image: C:\Users\1451550\Desktop\passPhysics website\adding Vectors\jun_08_56.jpg][image: C:\Users\1451550\Desktop\passPhysics website\adding Vectors\jan_06_46.jpg][image: C:\Users\1451550\Desktop\passPhysics website\adding Vectors\jun_11_68.jpg][image: C:\Users\1451550\Desktop\passPhysics website\adding Vectors\jan_05_37.jpg][image: C:\Users\1451550\Desktop\passPhysics website\adding Vectors\jan_07_52.jpg][image: C:\Users\1451550\Desktop\passPhysics website\adding Vectors\jan_05_54.jpg]
R. physics HW due Thursday 10/16	Tuesday, October 14, 2014	Page | 1
image4.jpeg
2 A motorboat, which has a speed of 5.0 meters
per second in still water, is headed east as it
crosses a river flowing south at 3.3 meters per
second. What is the magnitude of the boat’s
resultant velocity with respect to the starting
point?

(1) 33mss (3) 6.0 m/s
(2) 5.0 m/s (4) 83m/s
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2 The diagram below shows a resultant vector, R.

‘Which diagram best represents a pair of compo-
nent vectors, A and B, that would combine to
form resultant vector R?

A A
B B
(1) (3)
A
— B
A B

(2) (4)
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42 In the diagram below, scaled vectors represent
the momentum of each of two masses, A and B,
sliding toward each other on a frictionless,
horizontal surface.

|

Mass A Frictionless surface Mass B

Which scaled vector best represents the
momentum of the system after the masses col-
lide?

-— —

(1) (3)

(2) (4)
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A stream is 30. meters wide and its
current flows southward at 1.5 meters per
second. A toy boat is launched with a
velocity of 2.0 meters per second eastward
from the west bank of the stream.

38 What is the magnitude of the boat’s resultant
velocity as it crosses the stream?

(1) 0.5m/s (3) 3.0m/s
(2) 25m/s (4) 35m/s

39 How much time is required for the boat to reach
the opposite bank of the stream?

(1) 86 (3) 155
(2) 125 (4) 60.s
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38 Two forces act concurrently on an object. Their
resultant force has the largest magnitude when
the angle between the forces is
@ 0° (3) 90°
(2) 30° (4) 180°
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41 The diagram below represents two concurrent forces.

Which vector represents the force that will produce equilibrium with these two forces?

(1) (2) (3)

(4)
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A dog walks 8.0 meters due north and then
6.0 meters due east.

6.0m

8.0m

55 Using a metric ruler and the vector diagram,
determine the scale used in the diagram. (1]

56 On the diagram in your answer booklet,
construct the resultant vector that represents the
dogs total displacement. [1]

57 Determine the magnitude of the dogs total
displacement. [1]
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46 Two 30.-newton forces act concurrently on an object. In which diagram would the forces produce a resultant
with a magnitude of 30. newtons?

30.N

30.N 30.N
30 60 120 480;
. - » @ >
30.N 30.N 30.N 30.N 30.N

(1) (2) (3) (4)
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A model airplane heads due east at 1.50 meters per second, while the wind blows due north at
0.70 meter per second. The scaled diagram below represents these vector quantities.

N

0.70 m/s

]
¥

1.50 m/s

66 Using a ruler, determine the scale used in the vector diagram. [1]

67 On the diagram in your answer booklet, use a protractor and a ruler to construct a vector to represent
the resultant velocity of the airplane. Label the vector R. [1]

68 Determine the magnitude of the resultant velocity. [1]

69 Determine the angle between north and the resultant velocity. [1]
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37 The vector diagram below represents two forces, F and F,, simultaneously acting on an object.

F F,

‘Which vector best represents the resultant of the two forces?

(1) (2) (3) (4)
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Force A with a magnitude of 5.6 newtons
and force B with a magnitude of 9.4 newtons
act concurrently on point P.

5 A
94N 5 sen

52 Determine the scale used in the diagram. [1]

53 On the diagram in your answer booklet, use a
ruler and protractor to construct a vector
representing the resultant of forces A and B. [1]

54 Determine the magnitude of the resultant force.

]




image15.jpeg
In the scaled diagram, two forces, F, and
F,, act on a 4.0-kilogram block at point P.
Force F, has a magnitude of 12.0 newtons,
and is directed toward the right.

4.0kg

F, p F=120N
>~

(Drawn to scale)

52 Using a ruler and the scaled diagram, determine
the magnitude of F, in newtons.  [1]

53 Determine the magnitude of the net force acting
on the block.  [1]

54 Calculate the magnitude of the acceleration of
the block. [Show all work, including the equa-
tion and substitution with units.]  [2]
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3 A 5.0-newton force and a 7.0-newton force act
concurrently on a point. As the angle between the
forces is increased from 0° to 180°, the magnitude
of the resultant of the two forces changes from

(1) 00Nt 120N (3) 120Nt020N
(2) 20Nt 120N (4) 120Nt 00N
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5 As the angle between two concurrent forces
decreases, the magnitude of the force required
to produce equilibrium
(1) decreases
(2) increases
(3) remains the same
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2 A 6.0-newton force and an 8.0-newton force act
concurrently on a point. As the angle between
these forces increases from 0° to 90°, the
magnitude of their resultant
(1) decreases
(2) increases
(3) remains the same




